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1 Which country will host the first International Solar Alliance Summit ?
(A China (B) USA (C) Russia (D} India
2. The idea of Fundamental Duties of the Indian Conshtution is derived from :
Constitution (BY Britsh Constitution
(CY an Constitution (D} French Constitution

3, When is the Earth Day celebrated 7

L) April 21 (B) April 22 (C) May 2 )]

4. Which national cricket team 1s called by “The Lions”

A} MNewzealand (B) Australia (C) Sri Lanka (D) Pakislan

5. Who is the founder of the socio religious movement Prathyaksha Raksha Da Sabha 7
(A) Povkayvil Yohannan Pandit K.P. Karuppan
(C Ayyva Vaikundar \ bhatanandan

t area in India is covered by

(AY Hills (B) Mountains C) Plains (DY Dlateaus

rraduate from Ezhava community in Travancore is :

BY Velavudhan (Cy MNataraja Guru (D)) Dr. Palpu

of India which of the following period known as Plan holiday ?
&I 3

1968 (T

) 1961 to 1

1966 to 1969 <y 1°

9 Name the mittee, will be constituted by the Harvana Govt. to find oul solution to polluted
vater flowing in Yamuna river
) Kam Bilas Sharma Committee (B) ym Prakash Dhankar Cc ttee

(C) 5 lal Panwar Committee (D) Narbeer Singh Committee
10, The whole universe is one mind. Between mind and mind there is no vacuum Who 5z
thie
| Sy Iy - 3 . | =3 A 1
sroe Naravana WLura (5 A\ VVANK
C) Brahmananda Sivayogi (D) Chattampi Swamikal
11 e Ci is firstly decided to introduce Baby Olympics for children is

(B) Greece (C) China (D) Japan
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12. Stephen Hawking, the legendary theoretical physicist was died on :
(A) h March, 2018 (B) 13th March, 2018
(<) h parch, 2018 (D) 15th March, 2018
13. The first Finance Minister of India who presented the Budget is :
(A) Charan Singh (B) Jawaharlal Nehru
(Cy R.K. Shanmukham Chetty (D) Morarji Desai
14. Who among the following was a member of the Simon Commission ?
(A) Clement Atlee (B) Stanley Baldwin
(C) Neville Chamberlin (D) Strafford Cripps
15. The platform has been launched by the India Govt. on 2018 International Women's Day is :
(A)Y Women Literacy Platform (B) Women Entrepreneurship
(C) Women Power Platform (D} Women Combat Platform
16. Asiabic ‘-\..n'i-'_‘l}' of HL'-H;‘J.]E was founded by -
{A) Raja Rammohan Roy (B) Surendranath Bannerjee
(C) C.F. Andrews (12} William Johns
17. Name the country to host the 2021 Champions Trophy and 2023 World Cup Cricket.
(A) Iran (B) South Africa (C) Fakistan (D) India
18. Who built the Khajuraho temples 7
(A) <Chauhans (B) <Chandelas (C) Bundelas (D) Satavahanas
19. “Balyakalasakhi”, the famous romantic work in Malayalam by Vaikkom Muhanuned Basheer
is a :
(A) Drama (B) Toetry (C) Novel (D)} Short story
20 Thirunavaya, famous for ..\\]Lln‘.l]nT‘t:;inl is located in the banks of the river :
(A) PBharathapuzha (B) Periyar (C) Pampa (D) Kabani
21. Hemidesmosomes are found :
(A) Between extracellular matrix and cell.
[_T;j Between two adjacent plnnt cells.
(C) Between two adjacent amimal cells
(D)} Between bacterial membrane and cell wall
22. Find the possible pathway for the production of a secondary protein.
(A) Secretory vesicles — Golgi apparatus — Ribosomes — Rough ER
(B) Rough ER — Ribosomes — Secretory vesicles — € ;|1|:\‘?i apparatus
(C°) Rough ER — Secretory vesicles — Ribosomes — Golgi apparatus
(D) KRibosomes — Rough ER — Golg apparatus — Secretory vesicles
094 /2018 1 A
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Select the correct order from least to more complex

(A) Gluct ate, Hyaluronate, Proteoglvecans, CAG chains
(B Calue ite, Hvaluronate, GA chainsg, Proteoglvecans
(C) Hyaluronate, Glucuronate, Proteoglycans, GAG chains

(D) Hyaluronate, Glucuronate, GAG chains Proteoglycans

ron contains three genes P, Q, R in the same order, If polar mutation occurs in

g ' the effect in protein would be observed in :
(4 All proteins I, Q, R (B) Only inQand R
(C) Only inQ () Loss of all proteins

[he function of Okazaki fragments is to elongate :

mg strand awav from the replication fork

(B) |.1'.ui|:‘|:..: strand awav from the |'l-p|'.| ation fork
(C) Lagging strand towards the re plication fork

(D) Leading strand towards the replication fork

In prokaryotes and eukaryotes DINA replication is initiated -
At multiple sites on each chromosome, with each site generating two replication fork,

In a tightly regulated manner so that replication is initiated once per cell cycle at each

inidation site

"_'x- ) Al llllJ'.!IE":l- sites on each :'.L]r;n‘.'|.u.;‘\r~;1,a_ with each site ;’,’-'RL'T’JHH_&‘J one T\'i"]ii'c‘alj\.‘w‘l fork

At each end of each chromosome.

[n termination of transcription the role of rho protein is :

Ay T

-

[t is a DNA binding protein that blocks the movement of RNA polymerase down the

l-‘1111F1:_ (o

By

B) Itis a sub unit of RNA polymerase that binds to RNA hairpins and starts transcription.
(€) Itis a nuclease that degrades the 3' ends to RNA transcripts.

(D) Itis a helicase that actively breaks base pairs between the template and transcript.

MNMumber of PTeTgy bonds n-\p.\luiut| for the formaton of a ;mf-:idt- bond is -

A} Six (B) Mwror (Cy Four (D) ?;i.:u',lll

Even if other s are | nt bacleria utilize glucose first, the mechanism is called :
A}  Glucose utilization (B) Catabolic repression
C) Enzyme repression (D} Operon repression

zed protein complex that create an aqueous pore between the cytoplasm

B Gap junction (C)y  Hormone (D)} Re ceptor

094/2018
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31. S t the false statement about cyclins.
(A) lit ilate the activity of M-phase kinase
B led rapidly when the cell enters mitosis.
L everal families of cveling that differ in amino acid sequence and in theeir
(D) present at a constant steady state level throughout » cell cycle
32. Which among the following is most likely to happen if there is more than one tunica layer in
a stem apex
Onlvy the outer laver will .]u'u'l-:'||'\- into U]“IL‘]CT]'I'I..L] cell
All the lavers will develop into epidermal cell
\11 the layers will develop into cortex
D Inner layer develop into cortex
33. fully t I'\_'I'I\.‘i L
(A) PD =0T DFD =TT (C) DPD=0 (DY DPD=1
34 h of the following statement is correct ?
L

JA repair system typically work in three majur steps - detection of error, removal of
the abnormality, and replacement of the removed DNA

uck fluctuation test was designed to differenti

» between appecarance of a
PT

to random, spontaneous mutations appearance o the trait due to adaptation

ronmental conditions.

1v3s

(C) \ splice site mutation lead

to loss of an exon can affect production of regions of the
A eXONS ¢

|,"-‘|.-:|1 encoded in downs ren if they are H[‘lh ed l'Ut‘['\'\'l!_‘.'.

(D) Al the above.

35 Genetic drift vperates only
(A) Smaller population (B) Mendalian population
(C)) Larger population (D) Island population
36. |1 T
\) Proteins released hy the cells in response to viral infection

B Protein molecules which re

wder unattacked cells susceptible to viral attack

yulin

G

(<) ypecifi type ol I1l|f'l'|L'-|1|'!.':.|

(DY Both (A) and (B)

37. Cell w

with peptidoglycan is a characteristic constituent of :

(A) Eubacteria a

cvanobacteria

B Eubacteria and unic ilar eukarvotes

embers o

mounera and protista

bacteria and eukaryotes
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38 Both endogenous and exogenous spores are found in

hizopus Aoaricus (Cy Muco (D)
39 vhich is the smallest ¢
) | Ha (C)  Gnetum gnemon (D)
10 Lixid elech transport oocurs

Endoplasmic reticulum

er mitochondrial membrane

41. Which among the following is the sulphur containing, amino acid ?

) G mic acid, aspartic acid (B) Cysteine, methionine and cystine
¢ 1line, lysin (D) Tryptophan
32, \ g ri of DMNA male adenine and 120 cvstosine bases. The total

number of nucleotide in this DINA segment 1s :

\) 480 (BY 60 1) 240 I o R B

ls tormed durin s contain

of DMNA and the same set of chromosomes as those of the parent.

it of DNA but a set of chromosomes different from those of the parent cell,

(C) Double the amount of DINA and the set of chromosomes different from those of the

wd same sel of chruomosomes as those of the parent cell.

14, n higher plants Chromosomes are made up of
[ V) DNA + histones (() DNA4+RNA (I} DNA + pectines

=

1 flowers is crossed with a homozy FOuUs P[.II"II‘ bmlt’i:".f.', white

TS (B) All with white flowers

flowrers (D)  Half with red flowers

6. lhe term mutation was introduced by

Darwin B Mlende] (C) Hugo de vries (DY Lamark

f

erse transcriptase

DMNA dependant 1IN A polyvmerass

B DM A EMNA polymerase
(Cy RD NA polymerass
] [2 \ pendant ENA p ras

\ 094 /2018
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48.

fruit ditfer brom simple fruit, because it develops from :
I I

( icarpellary aporcarpous ovary
(B) Multicarpellary ovary

C)  Multicarpellary syncarpous ovary

(D}  Whole inflorescence

: the mechan

449, In some plar

to the famuily

m of sced l.i'l"E"l']"'\cE] 15 by censor h\.i"t'1.l.i'|:1i-i;11_ the E"!;_u'[th' l‘u—-h‘-n_;

A) Malvaceae {B) :1|'1‘:"ii€‘i!i(i'.1'i1'|' {C) .'I\'I'l";-“-'\‘l'dl.'t‘u'lt’ (D) nl_\lnHiﬂdLL‘cl‘.‘

50. Concentric amphicribal vascular bundle is that in which

4) Centrally located phloem is surrounded by xvlem
(B) Xylem is flanked by phloem on exterior sides only

7

)  Phloem is fle

iked by xylem on exterior sides only

(D) Centrally located xylem is surrounded by phloem

51. In which type of grafting many scions are selected ?
Ay G 1 grafting Wedge grafting
(C) Bud graflling (D) Approach grafting
B2, I v was first discovered in orange s« ds by
(A} PRobert Brown (B) Winkler (C) Leeuwenhock (D) Linnaeus

53. What is the type of ovule in which the funiculus is large, long and coiled around the ovule

(A) Anatropous ovul (B) Hemianatropous ovule

Circinotr pPous ovule

o4, The Lype of [ruitl in Pineapple is :

(A) Ivopsis (B) Sorosis (C)  Syconus (D) Simple fleshy
55 In An osperm of the L'11\‘.'.\-F'='T1'.1 of seed is develops from
(A) Tetraploid nucleus (B) I'riploid nucleus
(< Diploid nucleus (D)} Haploid nucleus
56. Whi is not properly matched ?
- | |:1|:"51'LL| |:'|.:||l:-
- Embryo produced from somatic cells
Koot iniHation in callus
0D94/2018 8 .




a9,

Bl

61.

bZ.

63.

hd

ad to eutrophication of nea

ize without chemical f

At present it 15 not possi

(< Cvanobacteria such as stoc are '.IT‘.]'\'I'..[EH e "!1-.'-¢}-i'|\|‘_-. 5

ind for 5"_.1'.'.: nutrition in

(D) Both Azatobacter and lants

itmospheric nmikre

i the |

ct the wrong pair b

(A) Nuclear wer - radivactive w

Solar energy - greenhouse effect

ung -

(C Biomass bu

select the incorrect statement

f Sitell

lar's sea cow and passe

1 got extinct due to over expleitation by man

and ed species in India

(C) The histolo al diversity was held in 1992,

(D) Species diversi INUTEdSES as W wve away [rom equator towards the }'n'|\-'

diversity re

(A) Diversity within a population H) Ihversity between Eco zones

(C) Diversity between commumnities Diversity within a community

Among the following which are associated with first and third trophic level 7

-',\I |J‘|'|'|.':l-'_".\'.1'||'\|'.":""- ii:l L‘\l:h r 1|\!’LILL'.

(C) Insectivorous plants (Y Chemoautot:

.J ARG P
i, \Laprpart

s are examples of tropical

Lsrasslands

1e pulential of penicillin as

r of DINA sequence

Disco

Second generatio ymbinant DINA technology. Which out of

the following are the

(A) Herpes virus vaccine (B)

(C) Bath (A) and (B (1)

9 094 /2018
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66,

68.

69.

70.

~3
iy

Galic acid used in 1 ¢ ink is obtained from :

(A)  Penicillivm purpurogenum (B)

(C) Lactobacillus bulgaricis (D)

Which among the following is the true statement ?

illinm notatum restrict the growth of Staphylococci.

Saccharomyces cerevisiae 1s used as clot buster.

(C) Methanogens are found in aerobic conditions.

(D) Acetobacter aceti produces citric acid.

n virus infected plants the meristematic tissues in both apical and axillary buds are free §
Yirus .l""'\ auls5e

(A) Virus cannot multiply within meristem cells

(B) Merislems have antiviral components

(C) Dividin

¢ cells are virus resistant

(D) Cell division of meristem are faster than the rate of viral multiplication

Select the correct statements.

(a) Genetic drift changes the existing gene or allelic frequency in future generations.

(b) Changes in allelic frequency in a population will lead to ITardy-Weinberg equilibriung

(c) When more individuals of a population acquire a mean character value, it is calle
disruption

(d) Increase in melanised moths after industrialization in Great Britain is a proof {or nalug
selection.

=

(A) (d) alone is correct (B) (a) alone is correct

(a) and (c) are correct (D) (a) and (d) are correct

A blue green L'l.]E',LJ-“ which is 2.9 billion vears old is the oldest fossil record from India. It is
i ]
(A) Archaeopiteryx (B) Arclhaeospheroides

rydomonas (D) Os

Eukarvotic and Prokarvotic genome differs by |'1.\\':J‘|3‘, s

(A) DNAis circular and :-i.nE;lr stranded in F‘:'\-],\l:"u'«.‘ts‘!'-.

(B DMNA is |_'\'|]L!.']q'u'l,1 with histone in t'."t"u]\dl"\'\'tk“‘
(C) Genes in the former case are organized into operons.
(I7) Repetative sequences are present in eukaryotes.

Association between Trichonympha and Termite is an example for :

Facultative mutualism (B) (""]'-]ilt_;.l'lr mutualism

(C) Commensalism (M Amensalismm

094 /2018 10




B) 530% haenu

(CY  In the preparatory phase of glycolysis glucose is broken down h

reme I

two genes for haemophi

OSOmMes marries a !'!.'I'I"'I..I man

» PrOgeny
Prog

All sons and daughters hacmophilic and colour blind.
U ITUIIIAL SULLS.
colour blind.

olour blind ,1_1||!,':|1I.-:'«.'

rier)

emophilic ; ) and 50

he variability of a seed is tested by

) 2, b-tripheny! tetrazolium chloride

(B) 2, 6-dichlorophenol mmdophenols
-
) DMSO

wers when exposed only to alternating periods of 5 hours light and
hour cycle then the plant should be a :
(B

) Short day plant

(D Nune of the above

oA takes I-.‘II. i- ""~I1|.|'I'."‘"i'| O

 C l\'_1'l|'|_'|"]'|'ll,!"'i

hy sis of starch or sucrose

orv substrate is formec

rlveeraldehyde

i-phosphate

1 1.
st product of Kreb's cve Il'.
I -

D} Citric acid is the i

tation was coined by

(L)) Stephen Hales

Kramer (L)

m suddenly increases around the leaf, one of the fx :!'u'-'-'iht.‘l events

» ol slomala

due Lo sudden o

A , g T : i o Pl
[A) Decrease m lranspriralis

(B) [ranspiration will not be affected

(C) Stomata open gradually
(D) Stomata open 1y

8 Hatm and TP=4 atm. The movement

Cell P has ()P =12 atm a

iter will be

(A From P to QO (B) Exosmosis
(C) FromQtoP (D) MNo net movement

11 094/2018
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79. Sclerotium is fo I ourable conditions by
i) Plasmotx (B) Thickening of sporangium
() Round (D) Rounding of Plasmodium
80. Binomual nomenclature was mentioned for the first time in the book :
(A) Historia plantarum (B)  Systema Naturae
<) Ph > Zoologique (D) None of these
81. BSecondary me ites is isidered to be of much importance in :
(A) Karyotaxonoomn (B} Chemotaxonomy
(<)  Biochemical taxono (D) MNumerical taxonomy

@
[

the correct de

"
{A) Pedol: gy, - Lis

» shudvy of adaptations

) Ecotone : It is the re lation of organisms behay iour

(C)  Synecolo

Interr

ationship of the organisms of a s Decies in a given environn
r & s &

(D) Autecology : Interrelationship of an organism to environment.

83. Nomn

al protocol deals with

v\)  Use for alternatives of CT¢

the use of QDS

(B) Limiti
C) Reducing

(D) Both (A

house gas emission

B4, The function of (iliform apparatus is to :

A) Produce nectar (B) Stimulate division of generative cell

ide the entry of pollen (D) Rex ognise the suitable pollen at the stiema

(B) Css Hyy O N, Mg

T = _ g { &
(D) Lss Hyy Oy N, Mg
86,
hur (B) Potassium (C) [’hu_'n.ph:n'Lu: (D) N.’d;;n-\::‘ium
87 Chlorenchyma is knowmn to develop in the
A Spor » of & moss (B) C\lf‘P[-]SHI of C hlorella
( [ ler f Pir (D) ole of

094 /2018 12




55

1]

90.

a3

okaryotic organisms devoid of cell wall are -

A) Cyanobacteria (B) Bact Mycoplasma (D) Actinomycetes

Read the following statements and select the correct ophon

(a) Lapetum nourishes the developing pollen grains.
b) Hilum represents the junction between ovule and funicle
(c) In water Hyacinth and w ater Lilly, pollination is by water
(d} The Primary endosperm nucleus is triploid
(A (a) and (d) are correct, but (b) and (c) are incorrect

(@) and (b) are correct, but (€) and (d) are incorrect
(C) (b)), (c) and (d) are « orrect, but (a) is incorrect

) are correct. but (¢) is incorrect

)) (&), (b) and (¢

F

legin are grown as ormamentals, l‘t’h*]'lg‘_" to the tamily :

terurm, Anemone and A

(A) Rhamnaceae (B) Euphorbiaceae (C) Ranunculaceae (D) Magnoliaceae
I g

T'he plane of cell wall formation in a dn'idmﬂ cell is determined by
| \I |
(C) G

doplasmic reticulum () Microfilaments

g1 apparatus (D) Microtubules

I'he book on “I hversity of life” w a5 written :.'.“.'-
(A) Linnaeus (B) E.O. Wilson (C) Charles Darwin (D) Aldo Leopold

'he binary name in which the specific epithet exactly repeats the generic name is called -

(%) Tautonym (B) Autonym (C) Basionym (D) Homonym

A syntype is ;

(A) Specimens used by the author as a nomenclatural type

Anyone of two or more specimens cited by the author when no holotype was designated

(C)  Any duplicate of the .f]q']\.'\f\'}"l_'

(D) Specimen cited in the protologue other than the holotype

succession mn acidic water or acidic soil is called :

(A) Mesosere (B) Ilalosere (C)] (Oxvylosere (D)  Acidosere

Different pollination mechanism in plants are given below. Which among, the following is

incorrect

(A) Flap trap mechanism - Aristolochia

B) door mechanism - Ficus

(C) I mechanism - Pinguiculaalping
(D) Lever mechanism - White centaurea

13 094/2018
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